IS

N | Division
Name Class Date
a What is the resulting quotient e Three hundred sixty divided by

of 785 + 507

eighteen equals .

A 15r15 A 20

Bisr7z 50) 785 B 25

C14r1 C 35

D 15r35 D 44

e There are 596 pieces of fruit. Each o What is the quotient of 209 = 47

person receives 3 pieces of fruit.

eceive 3 pieces of fruit? B 7413 4 299

BEQA - 2 — & 73 r A

PREVIEW

Please Sign In or Sigh Up to download
the printable version of this worksheet

=] e

C21r1 C 137
D 30r3 D 187
e One hundred eighty-nine divided by @ What is the resulting quotient
nine equals twenty-one. of 370 + 527
A true A7r8 (
Bfase 9 ) 189 B7r6

Cc8r4
D7r2

© Copyright NewPath Learning. All Rights Reserved. Permission is granted for the purchaser to print copies for
non-commercial educational purposes only. Visit us at www.NewPathWorksheets.com


https://NewPathWorksheets.com/#login
https://NewPathWorksheets.com/membership

N | Division ) @

Name Class Date
a What is the resulting quotient e Three hundred sixty divided by
of 785 + 507 eighteen equals ___.
A 15115 A 20
Bi3r7 50) 785 @ B 25 @
C14r1 C 35
D 15r35 D 44
e There are 596 pieces of fruit. Each o What is the quotient of 209 = 47
person receives 3 pieces of fruit.

How'many _people will . A77r1
receive 3 pieces of fruit?

reces ol c 7413 4) 299

PREVIEW

Please Sign In or Sigh Up to download
the printable version of this worksheet

~ = @

C21r1 C 137
D30r3 D 187

e One hundred eighty-nine divided by @ What is the resulting quotient
nine equals twenty-one.

of 370 + 527

e o) 189 A B 7o R
D7r2

© Copyright NewPath Learning. All Rights Reserved. Permission is granted for the purchaser to print copies for
non-commercial educational purposes only. Visit us at www.NewPathWorksheets.com


https://NewPathWorksheets.com/#login
https://NewPathWorksheets.com/membership

